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Hkjuk gS %





A100402T-A/90 (  3  )

1. Validity and Invalidity are

characteristics of :

(A) Deductive Arguments

(B) Propositions

(C) Both (A) and (B)

(D) None of the above

2. Inductive leap is found :

(A) From Particular to Universal

(B) From Universal to Particular

(C) Both (A) and (B)

(D) None of the above

3. The aim of symbolic logic is :

(A) Preciseness

(B) Certainty

(C) Both (A) and (B)

(D) None of the above

4. If proposition A is true, then O is :

(A) True

(B) False

(C) Both true and false

(D) None of the above

5. Categorical syllogism of valid form

has only :

(A) Two terms

(B) Four terms

(C) Three terms

(D) Not any term

6. Which one of the following is false?

(A) Logic is related to propositions

(B) Propositions has both subject

and predicate term

(C) Both the above statements are

true

(D) Both the above statements are

false

1. oS/krk vkSj voS/krk fo'ks"krk,¡ gSa %

(A) fuxeukRed ;qfDr;ksa dh

(B) rdZokD;ksa dh

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

2. vkxeukRed dqnku ik;k tkrk gS %
(A) fo'ks"k ls lkekU; dh vksj
(B) lkekU; ls fo'ks"k dh vksj
(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
3. izrhdkRed rdZ'kkL= dk y{; gS %

(A) laf{kIrrk
(B) lqfuf'prrk
(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
4. ;fn A rdZokD; lR; gS] rks O gksxk %

(A) lR;
(B) vlR;
(C) nksuksa lR; vkSj vlR;
(D) mijksDr esa ls dksbZ ugha

5. fdlh oS/k vkdkj okys fujis{k U;k;okD; esa
dsoy %
(A) nks in gksrs gSa
(B) pkj in gksrs gSa
(C) rhu in gksrs gSa
(D) dksbZ in ugha gksrk

6. fuEufyf[kr esa ls dkSu&lk vlR; gS\

(A) rdZokD; ls rdZ'kkL= dk lEcU/k gS

(B) rdZokD; esa mn~ns'; vkSj fo/ks; in
gksrs gSa

(C) mijksDr nksuksa dFku lR; gSa

(D) mijksDr nksuksa dFku vlR; gSa

[P.T.O.]
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7. Which one of the following

formulation is true about I

proposition?

(A) SP 0¹

(B) SP 0¹

(C) SP 0=

(D) SP 0=

8. Which one of the following is

substitution instance of contingent

statement form?

(A) P ~ PÉ

(B) [P (P Q)] QÉ É É

(C) Both (A) and (B)

(D) None of the above

9. In a valid categorical syllogism :

(A) Every term must be distributed

(B) Only two terms must be

distributed

(C) At least one term (Middle

Term) must be distributed

(D) No term need to be distributed

10. Which one of the following terms

determines figure?

(A) Middle term

(B) Subject term

(C) Predicate term

(D) None of the above

11. Mood AAA is valid in which figure?

(A) Only first figure

(B) Only second figure

(C) Only third figure

(D) Only fourth figure

7. fuEufyf[kr esa dkSu&lk I rdZokD; ds fy,
lR; gS\

(A) SP 0¹

(B) SP 0¹

(C) SP 0=

(D) SP 0=

8. fuEu esa ls dkSu&lk laHkkO; vkdkj dk
izfrLFkkiu voLFkk dk mnkgj.k gS\

(A) P ~ PÉ

(B) [P (P Q)] QÉ É É

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

9. oS/k fu#ikf/kd U;k;okD; esa %
(A) izR;sd in O;kIr gksuk vko';d gS
(B) dsoy nks inksa dk O;kIr gksuk vko';d

gS
(C) de&ls&de ,d in ¼e/;e in½ O;kIr

gksuk vko';d gS
(D) fdlh in dk O;kIr gksuk vko';d

ugha gS
10. vkd`fr dk fu/kkZj.k fdl in ds }kjk fd;k

tkrk gS\
(A) e/;e in
(B) mn~ns'; in
(C) fo/ks; in
(D) mijksDr esa ls dksbZ ugha

11. AAA voLFkk fdl vkd`fr esa oS/k gksrh gS\
(A) dsoy izFke vkd`fr esa
(B) dsoy f}rh; vkdf̀r esa
(C) dsoy rr̀h; vkdf̀r esa
(D) dsoy prqFkZ vkd`fr esa



A100402T-A/90 (  5  )

12. P M

M S

S P

The above expression belongs to :

(A) First figure

(B) Second figure

(C) Third figure

(D) Fourth figure

13. Which one of the following propositions

does not distribute any term?

(A) A

(B) E

(C) I

(D) O

14. The Symbolic Expression of "Sita and

Geeta" is :

(A) S G×

(B) S GÉ

(C) S GÚ

(D) S Gº

15. "Some politicians are liars" statement

is :

(A) Proposition A

(B) Proposition I

(C) Proposition E

(D) Proposition O

16. "Military is badly incompatible. Hence

Major Smith cannot hope for effective

work". Which one of the following is

fallacy in this syllogism?

(A) Fallacy of division

(B) Fallacy of composition

(C) Fallacy of petitio principii

(D) None of the above

12. P M

M S

S P

mijksDr vfHkO;fDr lEcfU/kr gS %
(A) izFke vkd`fr ls
(B) f}rh; vkd`fr ls
(C) rr̀h; vkd`fr ls
(D) prqFkZ vkd̀fr ls

13. izfrKfIr;ksa ds v/kksfyf[kr ;qXeksa esa dkSu fdlh
Hkh in dks O;Dr ugha djrk gS\
(A) A

(B) E

(C) I

(D) O

14. ^^lhrk vkSj xhrk** dh izrhdkRed vfHkO;fDr
gS %
(A) S G×

(B) S GÉ

(C) S GÚ

(D) S Gº

15. ^^dqN jktuhfrK vlR;oknh gksrs gSa** dFku
gS %
(A) A rdZokD;
(B) I rdZokD;
(C) E rdZokD;
(D) O rdZokD;

16. ^^lsuk cqjh rjg v;ksX; gSA blfy, est+j
fLeFk ,d izHkko'kkyh dke djus dh vk'kk
ugha dj ldrs**A bl U;k;okD; esa dkSu&lk
rdZnks"k gS\
(A) foxzg nks"k
(B) laxzg nks"k
(C) pØd nks"k
(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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17. If the quality of a proposition is

negative and quantity is universal, then

which proposition is there?

(A) A Proposition

(B) O Proposition

(C) I Proposition

(D) E Proposition

18. Which one of the following Mood is

valid Mood in all the four figures?

(A) IOO

(B) EIO

(C) AAA

(D) EAE

19. Conversion by limitations of which one

of the following is valid in Immediate

Inference?

(A) I

(B) A

(C) E

(D) None of the above

20. Which one of the following is the

contradiction of Material Implication?

(A) Y (R Y)É É

(B) Y (R Y)É É~

(C) R (Y R)É É~

(D) All of the above

21. "The Happiness of every man is good

to that man. Hence the universal

happiness is good to the group of all

men." Identify the fallacy in the above

syllogism :

(A) Fallacy of composition

(B) Fallacy of complex question

(C) Fallacy of accent

(D) Fallacy of petitio principii

17. ;fn fdlh rdZokD; dk xq.k fu"ks/kkRed gS
vkSj ifjek.k loZO;kih gS] rks og dkSu&lk
rdZokD; gksxk\
(A) A rdZokD;
(B) O rdZokD;
(C) I rdZokD;
(D) E rdZokD;

18. pkjksa vkd`fr;ksa esa dkSu&lh ,d oS/k voLFkk
gS\
(A) IOO

(B) EIO

(C) AAA

(D) EAE

19. vO;ofgr vuqeku esa fdl rdZokD; dk ifjfer
ifjorZu oS/k gS\

(A) I

(B) A

(C) E

(D) mijksDr esa ls dksbZ ugha

20. fuEufyf[kr esa dkSu&lk 'kkfCnd izfrifÙk dk
fojks/kkHkkl gS\

(A) Y (R Y)É É

(B) Y (R Y)É É~

(C) R (Y R)É É~

(D) mijksDr lHkh
21. ^^izR;sd O;fDr dk lq[k ml O;fDr ds fy,

vPNk gSA vr% lkekU; lq[k lc O;fDr;ksa ds
fy, vPNk gSA** bl U;k;okD; esa dkSu&lk
rdZnks"k gS %
(A) laxzg nks"k
(B) Ny iz'u nks"k
(C) Lojk?kkr rnks"k
(D) pØd nks"k
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22. M P

S M

S P

The above expression belongs to :

(A) First figure

(B) Second figure

(C) Third figure

(D) Fourth figure

23. 'Predicate term is undistributed', this

attribute belongs to :

(A) Negative Propositions

(B) Positive Propositions

(C) Both (A) and (B)

(D) None of the above

24. Deductive Arguments are not

possibly :

(A) Valid

(B) Invalid

(C) True or false

(D) None of the above

25. "All Congressmen are citizens". The

conversion of this proposition is :

(A) All citizens are Congressmen

(B) Any of the citizens are not

Congressmen

(C) Some of the Congressmen are

citizen

(D) Some of the citizens are

Congressmen

26. Subject and objects both are

distributed in :

(A) A proposition

(B) E proposition

(C) I proposition

(D) O proposition

22. M P

S M

S P

mijksDr vfHkO;fDr lEcfU/kr gS %
(A) izFke vkd`fr ls
(B) f}rh; vkd`fr ls
(C) rr̀h; vkd`fr ls
(D) prqFkZ vkd̀fr ls

23. ^fo/ks; in vO;kIr gS*] ;g xq.k lEcfU/kr gS%
(A) fu"ks/kkRed rdZokD;ksa ls
(B) LohdkjkRed rdZokD;ksa ls
(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
24. fuxeukRed ;qfDr;k¡ ugha gks ldrh gSa %

(A) oS/k

(B) voS/k

(C) lR; ;k vlR;

(D) mijksDr esa ls dksbZ ugha

25. ^^lHkh dkaxzslh ukxfjd gSa** bl rdZokD; dk
ifjofrZr okD; gS %

(A) lHkh dkaxzslh ukxfjd gSa

(B) dksbZ dkaxzslh ukxfjd ugha gS

(C) dqN dkaxzslh ukxfjd gSa

(D) dqN ukxfjd dkaxzslh gSa

26. mn~ns'; vkSj fo/ks; nksuksa in O;kIr gksrs gSa %

(A) A rdZokD; esa

(B) E rdZokD; esa

(C) I rdZokD; esa

(D) O rdZokD; esa

[P.T.O.]
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27. Truth value of P Pn ~  is :

(A) True

(B) False

(C) Both (A) and (B)

(D) None of the above

28. Which one is the expression of

syllogistic form AII-3?

(A) X

(B) X

(C) X

(D) X

29. If the two proposition which are same

in subject and Predicate, same in

quality, but they differs in their quantity,

then their relationship is called :

(A) Contradiction

(B) Sub-Alternation

(C) Contrary

(D) Sub-Contrary

30. In Valid Mood DARII, which one of the

following is conclusive proposition?

(A) Proposition A

(B) Proposition E

(C) Proposition I

(D) Proposition O

31. How many figures are there in

categorical syllogism?

(A) 2 (B) 3

(C) 4 (D) 5

27. P Pn ~  dk lR;rk ewY; gksxk %
(A) lR;
(B) vlR;
(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
28. fuEu esa ls dkSu&lk U;k;okD;h; vkdkj

AII-3 dh vfHkO;fDr gS\

(A) X

(B) X

(C) X

(D) X

29. ;fn nks rdZokD;ksa ds mn~ns'; ,oa fo/ks; leku
gksa] muds xq.k Hkh leku gksa] fdUrq os ifjek.k
esa fHkUu gksa] rks mudk lEcU/k dgykrk gS %
(A) O;k?kkr
(B) mikJ;.k
(C) foijhr
(D) fo#)

30. DARII fl) la;ksx esa fu"d"kZ dkSu&lk
rdZokD; gS %
(A) A rdZokD;
(B) E rdZokD;
(C) I rdZokD;
(D) O rdZokD;

31. 'kq) fujis{k U;k;okD; ds fdrus vkdkj gksrs
gSa\
(A) 2 (B) 3

(C) 4 (D) 5
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32. If both the premise of syllogism are

positive, then conclusion would be :

(A) Negative

(B) Positive

(C) Universal

(D) Particular

33. If one premise of a syllogism is

negative, then the conclusion of that

syllogism would be :

(A) Positive

(B) Negative

(C) Universal

(D) Particular

34. BARBARA is a valid Mood of which

one of the following figure?

(A) First figure

(B) Second figure

(C) Third figure

(D) Fourth figure

35. There is many type of 'Equivocation'.

Which one of the following is not

equivocation fallacy?

(A) Equivocation Major Term

Fallacy

(B) Equivocation Minor Term

Fallacy

(C) Equivocation Middle Term

Fallacy

(D) Undistributed Middle Term

Fallacy

36. Logic is a branch of which one among

the following?

(A) Sociology

(B) Ethics

(C) Philosophy

(D) Aesthetics

32. ;fn nksuksa U;k; ;qfDr ds vk/kkj okD;
LohdkjkRed gSa] rks fu"d"kZ dSlk gksxk\
(A) fu"ks/kkRed
(B) LohdkjkRed
(C) lkekU;
(D) fo'ks"k

33. fdlh U;k; ;qfDr dk ,d vk/kkj okD;
fu"ks/kkRed gS] rks fu"d"kZ dSlk gksxk\

(A) LohdkjkRed

(B) fu"ks/kkRed

(C) lkekU;

(D) fo'ks"k

34. BARBARA ,d fl) la;ksx gSA ;g fuEufyf[kr
esa ls fdl vkdkj dk fl) la;ksx gS\
(A) izFke vkd̀fr
(B) f}rh; vkd`fr
(C) rr̀h; vkd`fr
(D) prqFkZ vkd`fr

35. ^vusdkFkZd nks"k* ds dbZ izdkj gksrs gSaA fuEu
esa ls dkSu nks"k vusdkFkZd nks"k ugha gS\

(A) vusdkFkZd lk/; in nks"k

(B) vusdkFkZd i{k in nks"k

(C) vusdkFkZd e/;e in nks"k

(D) vO;kIr gsrq in dk nks"k

36. rdZ'kkL=] 'kkL= dh ,d 'kk[kk gS] og
fuEufyf[kr esa ls dkSu&lh gS\
(A) lekt'kkL=
(B) uhfr'kkL=
(C) n'kZu'kkL=
(D) lkSUn;Z'kkL=
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37. Which one of the following we does

not study in Logic?

(A) Term          (B)  Propositions

(C) Grammar     (D)  Syllogism

38. We study "syllogism" under which one

of the following?

(A) Inductive Logic

(B) Deductive Logic

(C) Both (A) and (B)

(D) None of the above

39. First two propositions of a syllogism

is called :

(A) Premises

(B) Major statement

(C) Minor statement

(D) None of the above

40. There are two types of syllogism. What

are those among the following?

(A) Qualitative and Quantitative

(B) Simple and Complex

(C) Formal and Factual

(D) None of the above

41. Which one of the following is not the

type of simple syllogism?

(A) Simple categorical syllogism

(B) Simple conditional syllogism

(C) Simple disjunctive syllogism

(D) Simple formal syllogism

42. If in a syllogism, Major Proposition is

Particular and Minor Proposition is

Negative, then the Conclusion would be:

(A) Positive

(B) Negative

(C) Universal

(D) None of the above

37. rdZ'kkL= ds vUrxZr ge fuEufyf[kr esa ls
fdldk v/;;u ugha djrs gSa\
(A) in (B) rdZokD;
(C) O;kdj.k (D) U;k; ;qfDr

38. U;k; ;qfDr dk v/;;u ge fuEufyf[kr esa
ls fdlds vUrxZr djrs gSa\
(A) vkxeukRed rdZ'kkL= esa
(B) fuxeukRed rdZ'kkL= esa
(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
39. U;k; ;qfDr ds izFke nks rdZokD;ksa dks D;k

dgrs gSa\
(A) vk/kkj okD;
(B) lk/; okD;
(C) xkS.k okD;
(D) mijksDr esa ls dksbZ ugha

40. U;k; ;qfDr ds eq[;r% nks Hksn fd;s tkrs gSaA
os nksuksa fuEufyf[kr esa ls dkSu gSa\
(A) xq.kkRed ,oa ifjek.kkRed
(B) 'kq) vkSj feJ
(C) vkdkjxr vkSj oLrqxr
(D) mijksDr esa ls dksbZ ugha

41. 'kq) U;k; ;qfDr ds fuEufyf[kr esa dkSu Hksn
ugha gS\
(A) 'kq) fujis{k U;k; ;qfDr
(B) 'kq) lksikf/kd U;k; ;qfDr
(C) 'kq) oSdfYid U;k; ;qfDr
(D) 'kq) vkdkfjd U;k; ;qfDr

42. ;fn fdlh U;k; ;qfDr dk lk/; okD; fo'ks"k
gks rFkk i{k okD; fu"ks/kkRed gks] rks fu"d"kZ
dSlk gksxk\
(A) LohdkjkRed
(B) fu"ks/kkRed
(C) lkekU;
(D) mijksDr esa ls dksbZ ugha
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43. If A and B are true statements and X

and Y are false statements, then which

one of the following compound

statement is true?

(A) ~ (An X) (B)  ~ An ~ X

(C) ~ B. ~ Y (D)    (An X). YY

44. Which one of the following is valid

statement (use Truth - Table) :

(A) p q / p× \

(B) p / p q\ ×

(C) p q / pn \

(D) p / p q\ É

45. Truth tables are of three types

Tautology contradiction and third is

which one among the following?

(A) Aakalik

(B) Alpkalik

(C) Aapatikta

(D) Utpatikta

46. 1. No human is animal.

2. All humans are intelligent.

From the above premises, which of the

following conclusions will be valid?

(A) Some intelligent are animals.

(B) Some intelligent are not

animals.

(C) All intelligents are animals.

(D) No intelligents are animals.

47. Which of the following is not a proven

combination (Mood) in fourth figure?

(A) BACARDO

(B) BRAMANTIP

(C) CAMENES

(D) DIMARIS

43. ;fn A vkSj B lR; dFku gSa vkSj X ,oa Y
vlR; gaS] rks fuEufyf[kr esa ls dkSu&lk feJ
okD; lR; gksxk %

(A) ~ (An X) (B)  ~ An ~ X

(C) ~ B. ~ Y (D)    (An X). YY

44. fuEu esa ls dkSu&lh ;qfDr oS/k gS ¼lR;rk&lkj.kh
}kjk½ %
(A) p q / p× \

(B) p / p q\ ×

(C) p q / pn \

(D) p / p q\ É

45. lR;rk lkj.kh rhu izdkj dh gksrh gS iqu#fDr]
O;k?kkr vkSj rhljh fuEufyf[kr esa ls
dkSu&lh gksrh gS\
(A) vkdkfyd
(B) vYidkfyd
(C) vkikfrdrk
(D) mRikfrdrk

46. 1. dksbZ Hkh euq"; i'kq ugha gSA

2. lc euq"; cqf)eku gSaA

mijksDr vk/kkj okD;ksa esa ls fuEu esa ls
dkSu&lk fu"d"kZ oS/k gksxk %

(A) dqN cqf)eku i'kq gSaA

(B) dqN cqf)eku i'kq ugha gSaA

(C) lHkh cqf)eku i'kq gSaA

(D) dksbZ Hkh cqf)eku i'kq ugha gSA

47. fuEufyf[kr esa ls dkSu prqFkZ vkd`fr ds fl)
la;ksxksa esa ugha vkrk gS\
(A) BACARDO

(B) BRAMANTIP

(C) CAMENES

(D) DIMARIS

[P.T.O.]
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48. How many Terms are there in a

syllogism?

(A) 1

(B) 2

(C) 3

(D) 4

49. If two Universal Proposition, which

are same in subject and predicate but

they only differ in quality, then their

relationship is called :

(A) Contradiction

(B) Sub-contrary

(C) Sub-Alternation

(D) Contrary

50. If proposition I is true, then the status

of O proposition would be :

(A) True

(B) False

(C) Uncertain

(D) None of the above

51. Number of Valid Moods in categorical

syllogism is :

(A) 64 (B) 16

(C) 19 (D) 256

52. Which one of the following comes

first in premises according to classical

logic?

(A) Minor proposition

(B) Major proposition

(C) Sometimes Major Proposition

comes first and then

sometimes Minor comes first

(D) There is no definite rules for

premises to come first and

after in a syllogism

48. U;k; ;qfDr esa fdrus in gksrs gSa\

(A) 1

(B) 2

(C) 3

(D) 4

49. ;fn nks loZO;kih rdZokD; ftuds mn~ns'; ,oa
fo/ks; leku gks] dsoy xq.kksa dh n`f"V ls
ijLij fHkUu gks] rks muds chp dk lEcU/k
D;k gksxk\
(A) O;k?kkr
(B) fo#)
(C) mikJ;.k
(D) foijhr

50. ;fn I rdZokD; lR; gks rks O rdZokD; dh
fLFkfr gksxh %
(A) lR;
(B) vlR;
(C) vfuf'pr
(D) mijksDr esa ls dksbZ ugha

51. fujis{k U;k; ;qfDr esa fl) la;ksxksa dh la[;k
fuEufyf[kr esa ls dkSu&lh gS\
(A) 64 (B) 16

(C) 19 (D) 256

52. ikjEifjd rdZ'kkL= esa vk/kkj okD;ksa esa dkSu&lk
rdZokD; igys vkrk gS\

(A) i{k okD;

(B) lk/; okD;

(C) dHkh lk/; okD; igys gksrk gS vkSj
dHkh i{k okD;

(D) vk/kkj okD;kas esa igys vkSj ckn dk
dksbZ fu;e ugha gS
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53. Which one is the valid combination

among the following?

(A) AEE - 2

(B) IAI - 1

(C) EAE - 3

(D) AAA - 2

54. In a syllogism, predicate of conclusion

is called :

(A) Major Term

(B) Middle Term

(C) Minor Term

(D) None of the above

55. Conjunctive function is True in which

condition among the following?

(A) When P and Q both are true

(B) When P and Q both are false

(C) When P is false and Q is true

(D) None of the above

56. If there are three variables in a truth

table, then there are three column and

what is the number of rows among the

following?

(A) 6

(B) 4

(C) 7

(D) 8

57. Which Term is distributed in A

Proposition?

(A) Subject

(B) Predicate

(C) Both Subject and Predicate

(D) Subject and Predicate both are

undistributed

53. fuEu esa ls dkSu&lk oS/k la;ksx gS\

(A) AEE - 2

(B) IAI - 1

(C) EAE - 3

(D) AAA - 2

54. U;k; ;qfDr ds fu"d"kZ ds fo/ks; dks dkSu&lk
in dgrs gSa\
(A) lk/; in
(B) e/; in
(C) i{k in
(D) mijksDr esa ls dksbZ ugha

55. la;kstd Qyu fuEufyf[kr esa ls fdl n'kk esa
lR; gksrk gS\
(A) P vkSj Q nksuksa lR; gks
(B) P vkSj Q nksuksa vlR; gks
(C) P vlR; gks vkSj Q lR; gks
(D) mijksDr esa ls dksbZ ugha

56. ;fn ,d lR;rk lkj.kh esa rhu pj gSa rks rhu
LrEHk gksaxs vkSj iafDr;ksa dh la[;k fuEufyf[kr
esa ls D;k gksxh\

(A) 6

(B) 4

(C) 7

(D) 8

57. A rdZokD; dk dkSu&lk in O;kIr gksrk gS\

(A) mn~ns';

(B) fo/ks;

(C) mn~ns'; vkSj fo/ks; nksuksa

(D) mn~ns'; vkSj fo/ks; nksuksa O;kIr ugha
gksrs

[P.T.O.]
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58. Which one of the following is fourth

figure?

(A)

M P

S M

S P

(B)

M P

SM

S P

(C)

P M

SM

S P

(D)

P M

S M

S P

59. Which one of the following is not a

valid Mood composition in second

figure?

(A) EAE

(B) AEE

(C) EAO

(D) EIO

60. 1. All humans are vegetarian.

2. Some animals are vegetarian.

Therefore some animals are human.

Which one of the following fallacy is

there in above syllogism?

(A) The Fallacy of four term

(B) Equivocation Fallacy

(C) The Fallacy of Illicit Mojar

(D) Undistributed Middle term

58. fuEufyf[kr esa ls dkSu&lh prqFkZ vkd`fr gS\

(A)

M P

S M

S P

(B)

M P

SM

S P

(C)

P M

SM

S P

(D)

P M

S M

S P

59. fuEufyf[kr esa ls f}rh; vkdkj ds fl)
la;ksxksa esa dkSu ugha gS\

(A) EAE

(B) AEE

(C) EAO

(D) EIO

60. 1. lc euq"; 'kkdkgkjh gSaA
2. dqN i'kq 'kkdkgkjh gSaA

blfy, dqN i'kq euq"; gSaA
mijksDr ;qfDr esa fuEu esa ls dkSu&lk nks"k
gS\
(A) prq"inh nks"k
(B) vusdkFkZd nks"k
(C) voS/k lk/; dk nks"k
(D) vO;kIr gsrq dk nks"k
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61. Subject and Predicate both terms are

undistributed in :

(A) A proposition

(B) E proposition

(C) I proposition

(D) O proposition

62. What is the truth value of P PÉ~ ?

(A) True

(B) False

(C) Both (A) and (B)

(D) None of the above

63. Subject term is undistributed this

attributes belongs to :

(A) Negative propositions

(B) Positive propositions

(C) Both (A) and (B)

(D) None of the above

64. Which one of the following is a

correct oversion of "Some Rich

Persons are not Poet" ?

(A) Some Rich are Non-Poet

(B) Some Poet are not Rich

(C) Some Rich are Poet

(D) Some Poet are Non-Rich

65. In Logic, which is known as "Term"?

(A) Any Name

(B) Any Word

(C) Subject and Predicate of

proposition

(D) All of the above

66. Which one of the following is a E

proposition?

(A) SP 0=

(B) SP 0=

(C) SP 0¹

(D) SP 0¹

61. mn~ns'; vkSj fo/ks; nksuksa in vO;kIr gksrs
gSa %
(A) A rdZokD; esa
(B) E rdZokD; esa
(C) I rdZokD; esa
(D) O rdZokD; esa

62. P PÉ~  dk lR;rk ewY; gksxk %
(A) lR;
(B) vlR;
(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
63. mn~ns'; in vO;kIr gksrk gS %

(A) fu"ks/kkRed rdZokD;ksa esa

(B) LohdkjkRed rdZokD;ksa esa

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

64. fuEufyf[kr esa ^^dqN /kuh dfo ugha gSa** dk
'kq) izfrorZu D;k gS\

(A) dqN /kuh vdfo gSa

(B) dqN dfo /kuh ugha gSa

(C) dqN /kuh dfo gSa

(D) dqN dfo v&/kuh gSa

65. rdZ'kkL= esa ^in* fdls ekurs gSa\

(A) fdlh Hkh uke dks

(B) fdlh Hkh 'kCn dks

(C) rdZokD; ds mn~ns'; vkSj fo/ks; dks

(D) mijksDr lHkh

66. fuEufyf[kr esa dkSu&lk E rdZokD; gS\

(A) SP 0=

(B) SP 0=

(C) SP 0¹

(D) SP 0¹

[P.T.O.]
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67. Position of "Middle term" in Fourth

figure of syllogism is :

(A) Subject in Major Premise and

Predicate in Minor Premise

(B) Subject in Minor Premise and

Predicate in Major Premise

(C) Subject of Both Premise

(D) None of the above

68. If both the Premises of a syllogism are

particular, then the conclusion would

be?

(A) Positive

(B) Negative

(C) Particular

(D) No conclusion

69. EAO - 1 Syllogism has which Fallacy

among the following?

(A) Negative Premises Fallacy

(B) Existential Fallacy

(C) Illicit Major Fallacy

(D) Undistributed Middle Term

Fallacy

70. Which one in the following is I

proposition?

(A) All rich are exploitative

(B) Some students are not

laborious

(C) Some humans are lazy

(D) None of the above

71. Which is O proposition among the

followings?

(A) Universal positive

(B) Universal negative

(C) Partial positive

(D) Partial negative

67. prqFkZ vkd`fr esa ^e/; in* dh fLFkfr
fuEufyf[kr esa ls D;k gksxh\
(A) lk/; okD; dk mn~ns'; vkSj i{k

okD; dk fo/ks;
(B) i{k okD; dk mn~ns'; vkSj lk/;

okD; dk fo/ks;
(C) lk/; dk mn~ns'; vkSj i{k okD; dk

mn~ns';
(D) mijksDr esa ls dksbZ ugha

68. ;fn fdlh U;k; ;qfDr esa nksuksa vk/kkj okD;
fo'ks"k gks rks fu"d"kZ D;k gksxk\

(A) LohdkjkRed

(B) fu"ks/kkRed

(C) fo'ks"k

(D) dksbZ fu"d"kZ ugha gksxk

69. EAO - 1 U;k; okD; esa dkSu&lk rdZnks"k
ik;k tkrk gS\

(A) fu"ks/kkRed vk/kkj okD; nks"k

(B) lÙkkRed nks"k

(C) vfu;fer eq[; in nks"k

(D) vO;kIr e/;e in nks"k

70. fuEu esa ls dkSu&lk I rdZokD; gS\

(A) lHkh /kuoku 'kks"k.kdkjh gksrs gSa

(B) dqN fo|kFkhZ ifjJe ugha djrs gSa

(C) dqN euq"; vkylh gksrs gSa

(D) mijksDr esa ls dksbZ ugha

71. O rdZokD; fuEufyf[kr esa ls dkSu&lk gS\

(A) loZO;kih LohdkjkRed

(B) loZO;kih fu"ks/kkRed

(C) va'kO;kih LohdkjkRed

(D) va'kO;kih fu"ks/kkRed
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72. "Logic is a Art of Reasoning" this

definition is given by the Logician?

(A) Whaiteley

(B) Eldrich

(C) Mill

(D) Tomson

73. If E proposition is true, then

proposition I would be?

(A) False

(B) True

(C) Uncertain

(D) None of the above

74. Which among the following

proposition is not used in categorical

syllogism?

(A) E

(B) D

(C) Both (A) and (B)

(D) None of the above

75. The contraposition of which

proposition is invalid?

(A) E

(B) A

(C) I

(D) O

76. Whose truth value would be true?

(A) P PÉ ~

(B) P P~×

(C) P Pn ~

(D) None of the above

77. Symbolic Logic called as among the

following :

(A) Deductive Logic

(B) Modern Logic

(C) Inductive Logic

(D) Classical Logic

72. ^rdZ'kkL=* rdZ dh dyk gS** fdl rdZ'kkL=h
us ;g ifjHkk"kk nh gS\
(A) OgSVyh
(B) ,fYMªp
(C) fey
(D) VkWelu

73. ;fn E rdZokD; vlR; gS rks I rdZokD; D;k
gksxk\
(A) vlR;
(B) lR;
(C) vfuf'pr
(D) mijksDr esa ls dksbZ ugha

74. fuEufyf[kr esa ls dkSu&lk rdZokD; fujis{k
U;k; ;qfDr esa iz;qDr ugha gksrk gS\

(A) E

(B) D

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

75. fdl rdZokD; dk izfrifjorZu voS/k gksrk
gS\
(A) E

(B) A

(C) I

(D) O

76. fdldk lR;rk ewY; lR; gksxk\
(A) P PÉ ~

(B) P P~×

(C) P Pn ~

(D) mijksDr esa ls dksbZ ugha
77. izrhdkRed rdZ'kkL= dks fuEufyf[kr esa ls

vkSj D;k dgrs gSa\
(A) fuxeukRed rdZ'kkL=
(B) vk/kqfud rdZ'kkL=
(C) vkxeukRed rdZ'kkL=
(D) ijEijkxr rdZ'kkL=

[P.T.O.]
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78. Which type of truth studied in the

deduction?

(A) Factual truth

(B) Formal truth

(C) Consequential truth

(D) Extensive truth

79.

The above Venn diagram expression

belongs to :

(A) AEE – 4

(B) AAA – 1

(C) AAA – 2

(D) AEE – 2

80. Which are the five steps of scientific

research?

(A) Observation, Experiment,

Verification, Analysis

Regulation

(B) Facts collection, Observation,

Experiment, Verification,

Analysis

(C) Facts collection, Hypothesis,

Experiment, Verification,

Abstraction, Generalisation

(D) Facts collection, Analysis,

Experiment, Verification,

Generalisation

81. If I proposition is false, the position

of E and O would be?

(A) E and O both are false

(B) E and O both are uncertain

(C) E is false and O is uncertain

(D) E and O both are true

78. fuxeu esa ge fuEufyf[kr esa ls fdl izdkj
ds lR; dk v/;;u djrs gSa\
(A) oLrqxr lR;
(B) vkdkjxr lR;
(C) ifj.kkexr lR;
(D) O;kid lR;

79.

mijksDr osu js[kkfp= fdldh vfHkO;fDr gS\
(A) AEE – 4

(B) AAA – 1

(C) AAA – 2

(D) AEE – 2

80. fuEu esa ls dkSu ik¡p pj.k oSKkfud [kkst esa
jgrs gSa\

(A) fujh{k.k] iz;ksx] lR;kiu] fo'ys"k.k]
fu;eu

(B) rF; lap;] fujh{k.k] iz;ksx] lR;kiu]
fo'ys"k.k

(C) rF; lap;] ifjdYiuk] iz;ksx] lR;kiu]
lkekU;hdj.k

(D) rF; lap;] fo'ys"k.k] iz;ksx] lR;kiu]
lkekU;hdj.k

81. vxj I rdZokD; vlR; gks] rks E vkSj O dh
fLFkfr fuEufyf[kr esa D;k gksxh\
(A) E vkSj O nksuksa vlR; gksaxs
(B) E vkSj O nksuksa lafnX/k gksaxs
(C) E vlR; vkSj O lafnX/k gksxk
(D) E vkSj O nksuksa lR; gksaxs
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82. Simple constructive Dilemma, is a type

of Dilemma, which conclusion is?

(A) Absolute

(B) Conditional

(C) Disjunctive

(D) Absolute and Disjunctive both

83. Which one of the following is not the

types of Dilemma?

(A) Complex Destructive

Dilemma

(B) Complex Constructive

Dilemma

(C) Simple Legislative Dilemma

(D) Simple Destructive Dilemma

84. Which one of the following is not the

types of complex syllogism?

(A) Hypothetical categorical

complex syllogism

(B) Disjunctive categorical

complex syllogism

(C) Dilemma

(D) Conceptual categorical

complex syllogism

85. Contraposition by Limitations of

which one of the following is valid in

immediate inference?

(A) I

(B) E

(C) A

(D) None of the above

82. 'kq) fo/kk;d mHk;rksik'k] mHk;rksik'k dk
,d izdkj gS] bldk fu"d"kZ fuEufyf[kr esa ls
D;k gksrk gS\

(A) fujis{k

(B) lksikf/kd

(C) oSdfYid

(D) nksuksa fujis{k vkSj oSdfYid

83. fuEu esa ls dkSu mHk;r%ik'k dk izdkj ugha
gS\

(A) feJ fo?kkrd mHk;r%ik'k

(B) feJ fo/kk;d mHk;r%ik'k

(C) ljy fo/kkukRed mHk;r%ik'k

(D) ljy fo?kkrd mHk;r%ik'k

84. feJ U;k; ;qfDr dk fuEufyf[kr esa ls dkSu
Hksn ugha gS\

(A) lksikf/kd fujis{k feJ U;k; ;qfDr

(B) oSdfYid fujis{k feJ U;k; ;qfDr

(C) mHk;r%ik'k

(D) oSpkfjd fujis{k feJ U;k; ;qfDr

85. vO;ofgr vuqeku esa fdl rdZokD; dk ifjfer
izfr&ifjorZu oS/k gS\

(A) I

(B) E

(C) A

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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86. Which of the following definitions of

Logic may be appropriate?

(A) Logic is the Science of Debate

(B) Logic is the Science of

Reasoning

(C) Logic is the Science of pure

thoughts legislative principles

(D) Logic is the Science of

Philosophers

87. Which one of the following is second

figure?

(A)

M P

S M

S P

(B)

P M

S M

S P

(C)

M P

SM

S P

(D)

P M

SM

S P

88. The subject of conclusion of a

syllogism named as a term :

(A) Minor Term

(B) Middle Term

(C) Major Term

(D) None of the above

86. rdZ'kkL= dh fuEufyf[kr esa ls dkSu&lh ifjHkk"kk
mi;qDr gks ldrh gS\

(A) rdZ'kkL= okn&fookn dk 'kkL= gS

(B) rdZ'kkL= rdZ djus dk 'kkL= gS

(C) rdZ'kkL= fo'kq) fopkj ds fo/kkukRed
fl)kUrksa dk foKku gS

(D) rdZ'kkL= nk'kZfudksa dk 'kkL= gS

87. fuEufyf[kr esa ls dkSu&lk f}rh; vkd̀fr
gS\

(A)

M P

S M

S P

(B)

P M

S M

S P

(C)

M P

SM

S P

(D)

P M

SM

S P

88. U;k; okD; ds fu"d"kZ ds mn~ns'; dks dkSu&lk
in dgrs gSa\
(A) i{k in
(B) e/; in
(C) lk/; in
(D) mijksDr esa ls dksbZ ugha
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89. "Analogy Argument is a dropped

inference" this definition was given by:

(A) Mill

(B) Tomson

(C) Venn

(D) Eldrich

90. Which one of the following is a

Tautology?

(A) P (R P)É É

(B) P (P R)É É~

(C) P PÉ

(D) All of the above

91. To find out the number of Row, which

formula is used among the following?

(A) 2
n

(B) 3
n

(C) 2
n–1

(D) 2
n+m

92. What is the meaning of truth functional

proposition?

(A) Placing True value

(B) Putting False value

(C) Putting both true and false

value

(D) Putting ethical values

93. If we show Negation by the symbol ~ ,

then implication symbolised by which

one of the following?

(A)  (B) n

(C) É (D) º

94. Laco of no contradiction is the symbol

of which one of the following?

(A) P qÉ (B)  P P

(C) (P P)~ ~ (D) P P~ ~

89. ^^lkE;kuqekfud ;qfDr ,d mfprkFkZd vuqeku
gS** ;g ifjHkk"kk fdlds }kjk nh xbZ gS\
(A) fey
(B) Vkelu
(C) osu
(D) ,fYMªp

90. fuEufyf[kr esa ls dkSu&lk iqudZFku gSa\

(A) P (R P)É É

(B) P (P R)É É~

(C) P PÉ

(D) mijksDr lHkh

91. iafDr;ksa dh la[;k Kkr djus ds fy, fuEufyf[kr
esa ls dkSu&lk lw= iz;ksx djrs gSa\
(A) 2

n
(B) 3

n

(C) 2
n–1

(D) 2
n+m

92. lR;rk Qyfud dk fuEufyf[kr esa ls D;k
vk'k; gS\

(A) lR;rk ewY; j[kuk

(B) vlR;rk ewY; j[kuk

(C) lR;rk vkSj vlR;rk nksuksa ewY; j[kuk

(D) uSfrd ewY; j[kuk

93. fu"ks/k ds izrhd dks ~ ls fn[kkrs gSa] rks
fuEufyf[kr esa ls fdlls izfrifÙk ds izrhd
fn[kkrs gSa\
(A)  (B) n

(C) É (D) º

94. vfojks/k dk fu;e fuEufyf[kr esa ls fdldk
izrhd gS\
(A) P qÉ (B)  P P

(C) (P P)~ ~ (D) P P~ ~

[P.T.O.]
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95. (P P)É  presented the rule of which

one of the following?

(A) Law of sufficient reason

(B) Law of no contradiction

(C) Law of identity

(D) None of the above

96. Which one of the following is the

propositions O?

(A) Universal positive

(B) Universal negative

(C) Partial negative

(D) Partial positive

97. Which one of the following is the valid

combination of second figure?

(A) CESARE

(B) CAMESTRES

(C) CELARENT

(D) FESTINO

98. Which one of the following is the

correct conversion of "All Bengalis are

Indian"?

(A) All Indians are Bengali

(B) Some Indian are Bengali

(C) Some Indian are not Bengali

(D) Some Bengali are Indians

99. Which one of the following

formulation is true about A

proposition?

(A) SP O¹ (B) SP O=

(C) SP O¹ (D) SP O=

100. If E is true, then A would be?

(A) True

(B) False

(C) Uncertain

(D) None of the above

95. (P P)É  fuEufyf[kr esa ls fdl fu;e dks
izLrqr djrk gS\
(A) i;kZIr dkj.k dk fu;e
(B) vfojks/k dk fu;e
(C) rknkRE;  dk fu;e
(D) mijksDr esa ls dksbZ ugha

96. O rdZokD; fuEufyf[kr esa ls dkSu&lk gS\

(A) loZO;kih LohdkjkRed

(B) loZO;kih fu"ks/kkRed

(C) va'kO;kih fu"ks/kkRed

(D) va'kO;kih LohdkjkRed

97. fuEufyf[kr esa ls f}rh; vkd`fr ds fl)
la;ksxksa esa dkSu&lk ugha gS\
(A) CESARE

(B) CAMESTRES

(C) CELARENT

(D) FESTINO

98. fuEufyf[kr esa ^^lHkh caxkyh Hkkjrh; gSa** dk
dkSu&lk ifjofrZr :i 'kq) gS\

(A) lHkh Hkkjrh; caxkyh gaS

(B) dqN Hkkjrh; caxkyh gSa

(C) dqN Hkkjrh; caxkyh ugha gSa

(D) dqN caxkyh Hkkjrh; gSa

99. fuEufyf[kr esa ls dkSu&lk A ds fy, lR;
gS\

(A) SP O¹ (B) SP O=

(C) SP O¹ (D) SP O=

100. ;fn E lR; gS] rks A D;k gksxk\
(A) lR;
(B) vlR;
(C) vfuf'pr
(D) mijksDr esa ls dksbZ ugha
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Example :

Question :

Q.1

Q.2

Q.3

5. Each question carries equal marks.

Marks will be awarded according to the

number of correct answers you have.

6. All answers are to be given on OMR

Answer Sheet only. Answers given

anywhere other than the place specified

in the answer sheet will not be

considered valid.

7. Before writing anything on the OMR

Answer Sheet, all the instructions given

in it should be read carefully.

8. After the completion of the examination,

candidates should leave the examination

hall only after providing their OMR

Answer Sheet to the invigi lator.

Candidate can carry their Question

Booklet.

9. There will be no negative marking.

10. Rough work, if any, should be done on

the blank pages provided for the purpose

in the booklet.

11. To bring and use of log-book, calculator,

pager & cellular phone in examination

hall is prohibited.

12. In case of any difference found in English

and Hindi version of the question, the

English version of the question will be

held authentic.

Impt. On opening the question booklet,

first check that all the pages of the question

booklet are printed properly. If there is any

discrepancy in the question Booklet, then

after showing it to the invigilator, get another

question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

5. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

6. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

7. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ
vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

9. fuxsfVo ekfdZax ugha gSA

10. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

11. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

12. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;
gksxkA

egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA

A C D

A D

A C D

B

A C D

A D

A C D

B


